
(8)

������

                          �	
�

�����	            (8)
������
����         (9)
������
�����������                 (10)
���������������         (11)
����������������������         (14)
�����

1 �����          1
          �����
 �!�"���          1
          
��#!�����          3
          ��
%&������'          31
          (��!(
����)#��           31

2 ���+&  �&���,'-.��)/����                   32
3 �.-.��)#��,'          40
4 ��&�          96

!������ ���)�          99
�������
       �    ����)!����1'���'���������������  !�2�  #&.)�����'-.�
             ��
�����1��3#                            113
       (    ������!2)��&,��������������2���(��2���&+��+                                     129
       �    �.����)!����1'���2-����������%)
)                                                   133
�����
)�4 !(���          150



(9)

������
����


�������                  �	
�
1  ��
�����1��3#  (2�. CO2/��./:2.)  (���.;2 �+��<��.-.�����=��
    ���������
�+-
=�3���������!�>�����&,1�42)
=�� ?      11
2  #&.)�����'���!�@���!1
&(�����!�=�!���3����-.��.;2 �+
�+-
=��� �2��)A��         15
3  �.(���B##��
=�� ? 
=�������.��!C..'-.�����'(��#&.)�����'                  24
4  ���!�>����D��.;2 �+
�+-
=��� �2��)A��-.���<��.A+�3: �B##���=�2             25
5  �&,�2��
)���CE2�=��(��FG.'2�.��
)�:�)+
=�� ? ���2�H������3����!�>�
    ���D����-.��.;2 �+
�+-
=��� �2��)A�����3
 �����+�+-�.��������H         27
6  ���'���������!�2�(��!�"<�2���&+��+         41
7  ���'���������!�2�����=��.
=���1���(��!�"<�2���&+��+���!�>����D����3
 
    �����+�+-�.��������H���-
�
=���������&,1�42)  10oC         84
8  ���'���������!�2�����=��.
=���!���<��(��!�"<�2���&+��+���!�>����D����3
 
    �����+�+-�.��������H���-
�
=���������&,1�42)  10oC         87
9  �&,������#&.)�����'(��!�"<�2���&+��+���!�>����D����3
 �����+�+-�.�
    �������H���-
�
=���������&,1�42)  10oC          92



(10)

������
��������	��


��������	�����        �	
�

1  �.����)!����1'���2-�������=���(��2���&+��+#�������++ ��!��"�����+��
    Hunterlab !2"��-:=���.�.����2���!�.�  20  -.�  30  ����
    ��1�=�����!�>����D�����&,1�42)  10oC  133
2  �.����)!����1'���2-�������=����2-�=�!�"<�(��2���&+��+
    #�������++ ��!��"�����+!�"<���2��� !2"��-:=���.�.����2���!�.�  20  -.�  30  ����
    ��1�=�����!�>����D�����&,1�42)  10oC  135
3  �.����)!����1'���2-�������&,��������������2���(��2���&+��+
    !2"��-:=���.�.����2���!�.�  20  -.�  30  ����  ��1�=�����!�>����D�
    ����&,1�42)  10oC                     136
4  �.����)!����1'���2-�������=���(��2���&+��+#�������++ ��!��"�����+��
    Hunterlab !2"��!�>����D�3�%&��.��
)�A�.�A����.��-.�;�.��/-�.-�.+�����
    ����&,1�42)  10oC          139
5  �.����)!����1'���2-�������=����2-�=�!�"<�(��2���&+��+#�������+
    + ��!��"�����+!�"<���2��� !2"��!�>����D�3�%&��.��
)�A�.�A����.��-.�
    ;�.��/-�.-�.+���������&,1�42)  10oC          141
6  �.����)!����1'���2-�������&,��������������2���(��2���&+��+
    !2"��!�>����D�3�%&��.��
)�A�.�A����.��-.�;�.��/-�.-�.+�����
    ����&,1�42)  10oC          142
7  �.����)!����1'���2-�������&,������!�2�(��2���&+��+
    !2"��!�>����D�3�%&��.��
)�A�.�A����.��-.�;�.��/-�.-�.+�����
    ����&,1�42)  10oC          145
8  �.����)!����1'���2-�������&,������#&.)�����'(��2���&+��+
    !2"��!�>����D�3�%&��.��
)�A�.�A����.��-.�;�.��/-�.-�.+�����
    ����&,1�42)  10oC                  148



(11)

���������������

������         �	
�

1  (�<�
�����-���4�(�<�
���(�����-.��.;2 �+
�+-
=��� �2��)A��            7
2   ���!�.����-�.����+ �������)���-.�:��!�2�3����-.��.;2 �+
�+-
=�
     �� �2��)A�����2��.!�"���#����+-�.                       13
3   :&+�&���,'��+��
�����1��3#(��2���&+��+����&,1�42)  10oC                       35
4   ��
�����1��3#(��2���&+��+ (2�. CO2/��./:2.) ��1�=�����!�>����D�
     ����&,1�42) 10oC             43
5   �=�  L  (��2���&+��+!2"��-:=���.�.����2���
=�����!�@�!�.�  20 (A)
     -.�  30 (B) ����  ��1�=�����!�>����D�����&,1�42)  10oC                        45
6   �=�  a  (��2���&+��+!2"��-:=���.�.����2���
=�����!�@�!�.�  20 (A)
     -.�  30 (B) ����  ��1�=�����!�>����D�����&,1�42)  10oC                         47
7   �=�  b  (��2���&+��+!2"��-:=���.�.����2���
=�����!�@�!�.�  20 (A)
     -.�  30 (B) ����  ��1�=�����!�>����D�����&,1�42)  10oC                        48
8   �=����2-�=�!�"<�(��2���&+��+!2"��-:=���.�.����2���
=�����!�@�!�.�
     20 (A)  -.�  30 (B) ����  ��1�=�����!�>����D�����&,1�42)  10oC  50
9   ��-��.��D,�����V(��2���&+��+!2"��-:=���.�.����2���
=�����
     !�@�!�.�  20 (A)  -.�  30 (B) ����  ��1�=�����!�>����D�����&,1�42)
     10oC             52 
10 ��-��+ ����(��2���&+��+!2"��-:=���.�.����2���
=�����!�@�!�.�
     20 (A)  -.�  30 (B) ����  ��1�=�����!�>����D�����&,1�42)  10oC              54
11 2���&+��+!2"��-:=���.�.����2���
=�����!2"��!�>����D�!�@�!�.�  0  (A)
     -.�  15 (B) �������&,1�42)  10oC                        55
12 ��-����W�+(��2���&+��+!2"��-:=���.�.����2���
=�����!�@�!�.�
     20 (A)  -.�  30 (B) ��������&,1�42)  10oC                        56
13 ��-��!�"<���2���(��2���&+��+!2"��-:=���.�.����2���
=�����!�@�!�.�
     20 (A)  -.�  30 (B) ����  ��1�=�����!�>����D�����&,1�42)  10oC                       58



(12)

���������������  (
��)

������           �	
�

14  ��-�������2�����2(��2���&+��+!2"��-:=���.�.����2���
=�����
       !�@�!�.�  20 (A)  -.�  30 (B) ����  ��1�=�����!�>����D�����&,1�42)
       10oC              60
15  �=�  L  (��2���&+��+���3
 �����+�+-�.��������H���
=�����
      3�%&��.��
)�A�.�A����.�� (A) -.�;�.��/-�.-�.+����� (B)
       ��1�=�����!�>����D�����&,1�42)  10oC             64
16  �=�  a  (��2���&+��+���3
 �����+�+-�.��������H���
=�����
      3�%&��.��
)�A�.�A����.�� (A) -.�;�.��/-�.-�.+����� (B)
       ��1�=�����!�>����D�����&,1�42)  10oC             65
17  �=�  b  (��2���&+��+���3
 �����+�+-�.��������H���
=�����
      3�%&��.��
)�A�.�A����.�� (A) -.�;�.��/-�.-�.+����� (B)
       ��1�=�����!�>����D�����&,1�42)  10oC              67
18  �=����2-�=�!�"<�(��2���&+��+���3
 �����+�+-�.��������H���
=�����
      3�%&��.��
)�A�.�A����.�� (A) -.�;�.��/-�.-�.+����� (B)
       ��1�=�����!�>����D�����&,1�42)  10oC             69
19  ��-��.��D,�����V(��2���&+��+���3
 �����+�+-�.��������H
      ���
=�����3�%&��.��
)�A�.�A����.�� (A) -.�;�.��/-�.-�.+����� (B)
      ��1�=�����!�>����D�����&,1�42)  10oC             71
20  ��-��+ ����(��2���&+��+���3
 �����+�+-�.��������H���
=�����
     3�%&��.��
)�A�.�A����.�� (A) -.�;�.��/-�.-�.+����� (B) ��1�=��
      ���!�>����D�����&,1�42)  10oC             74
21  2���&+��+���3
 �����+�+-�.��������H-.����#&��,X'���
=�����
      !2"��!�>����D�!�@�!�.�  0  (A)  -.�  15 (B) �������&,1�42)  10oC             75
22  ��-��!�"<���2���(��2���&+��+���3
 �����+�+-�.��������H
      ���
=�����3�%&��.��
)�A�.�A����.�� (A) -.�;�.��/-�.-�.+����� (B)
      ��1�=�����!�>����D�����&,1�42)  10oC             77



(13)

���������������  (
��)

������           �	
�

23  ��-���.)���)+��
)(��2���&+��+���3
 �����+�+-�.��������H
      ���
=�����3�%&��.��
)�A�.�A����.�� (A) -.�;�.��/-�.-�.+����� (B)
      ��1�=�����!�>����D�����&,1�42)  10oC             79
24  ��-�������2�����2(��2���&+��+���3
 �����+�+-�.��������H
      ���
=�����3�%&��.��
)�A�.�A����.�� (A) -.�;�.��/-�.-�.+����� (B)
      ��1�=�����!�>����D�����&,1�42)  10oC             81
25  ���!�.����-�.���+�����2!( 2( �(��-�Y����'���;+���;C+'-.����C)!#�
       ���3�%&��.��
)�;�.��/-�.-�.+�����  CE�����#&2���&+��+�<��1���  200  ���2/%�+
       ���3
 ��������2�-�Y����C)!#�-.����'���;+���;C+'!�)�2
 �� ��.�  15  -.�
      10  
�2.��+��  ����&,1�42)  10oC                95



(14)

�������������������	��

����	�����                         �	
�

1  (�<�
�����!�>�
����=��-�Y�#��(�+-� ����#&2���&+��+  -.����+E�
����=��-�Y�
    #��(�+�<��!�."�!�"��Z�+!( �!��"���  GC            124
2  (�<�
�����!�>�
����=��-�Y�3����#&��,X'  -.����+E�
����=��-�Y�#��1.�+-� �
    ������3�2�-�Y�
����=��!�"��Z�+!( �!��"���  GC            128


